DE I8 GlussdorS . ( ok on Qperafe paper: U 40 )
Hy) for 927 ( 512##)

/. Consider the differential equation av +ytanx=cos’ x, given that y=2 when x=0.

(a) Use Euler’s method with a step length of 0.1 to find an approximation to the

value of y when x=0.3. [5 marks]
(b) () Show that the integrating factor for solving the differential equation is
seCcX.
(i) Hence solve the differential equation, giving your answer in the form
y=f(x). [10)72611’}’&8']
2
2. Consider the differential equation ¥ »where x>—1 and y=1 when x=0.
dx I+x

(@) * Use Euler’s method, with a step length of 0.1, to find an approximate value of y

when x=0.5. [7 marks]

2 3.2
(® () Showthat 922" =Y
dx®  (I+x)?

(¢) () Solve the differential equation.

(i) Find the value of a for which y—owasx—>aq. [6 marks]
[Maximum mark: 7]

3 Find the general solution of the differential equation i%}t—} =cos?—2y,for £>0.
{'4' Solve the differential cquation
dy
x' ==y 43y + 247
. Yy Y+ 2x
giventhat y=~1 when x=1. Give your answer in the form y = f(x).
S. Show that the solution of the differential equation
d_ cosxcos’y,
dx
[5 marks]

given that y =§ when x =1, is y=arctan (I+sinx).
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